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Find the matrix A satisfying the matrix equation:

ER R I R PR

| 3 —1 -1 -8 -10
Find the matrixAsuchthat { 1 0]J]A=1{1 -2 -—51|.
-3 4 9 22 15

If A, B are square matrices of same order and B is a skew - symmetric matrix, show that
A'BA is skew symmetric.

Ify = (CGS:E){CDEI}[CD:,-:]...m show tha % _ %
sin tan- —coszr) tan {2
A= L 1( o) tar' () B=1 1( | (7 thenA-Bis equal lo
Tlsin (2) cot(me) | | s (E)  —tan ()
T il

Consider f: R* — [-5, 00) given by f(x) = 9x? + 6x — 5. Show that f is

invertible with f1(y) = (J— ¥ ). Hence find (i) f 1(10) (i) if “(y)
=43

2 2 A4 1 -1 0
Gvend=1{-4 2 -4{,B=1(2 3 4,findBAand use this fo solve the system of
2 -1 5 0 1 2

equations y +22=7,x-y=3, 20+ 3y +4z2=17.

If z = a. sin(2t). (1 4 cos2t) and y = b. cos2t. (1-cos2t), show that (%) = %

att=%

Given




1 1 1 4 4 4
A=1 2 2|amdB=|7 1 3
2 1 3 5 3 4

find AB and use this result in solving the following system of
equation.

x—yv+z=4
x—2v—2z=09

2x+yv+3z=1

10
fvl—z2+4/1—y2=a(z—y) provethat;f; }:gz
If
11 | The sum of three no. is 6. If we multiply third no. by 3 and add
second no. to it, we get ll. By adding first and third no. we get
double of the second no. represent it algebraically and find the
no. using matrix method.
12 | Find the value of K so that function is continuous at the given
Kx+1 if x =7
F(x) =*! at x =
value |h|:-:|5:!-; if =xz=>=mo
13 o AT+x—f1—x )
Differentiate the following w.r.t. to x Wt xtl-x)
(ii) Differentiate w.rt. x: sin™ z - cos" z
14 ) c:.-' v
(i)If t=asinpt, y=beospt , find the value of ¢ att=0
(ii) Differentiate w.r.t. x: cos ™1 (%), where F <z < %
15
( 1—cgs4w’ if @ <0
I
Let f(z) = =a, ifz=0 . For what value of a, fis continuous at x = 0?
vz ife >0
L A/16+ vz —4




